The country with the highest average CSI was Jamaica. Its average CSI over the last 12 months was
4.5 out of a maximum of 5. This means that climate change had an extraordinary impact on
temperatures: on the average day, the average person in Jamaica experienced temperatures made
more than four times more likely by human-caused climate change. Two other countries, Guatemala
(4.4) and Rwanda (4.1), also had 12-month average CSI values above 4.

Table 1. Countries with annual average CSI of 1 or higher

Countries with . CSl of the CSl of the CSl of the
. Country with X .
Continent | annual average the highest CSI most populous | country with the | country with the
CSlz1 9 country highest GDP lowest GDP
Africa 44 out of 52 Rwanda (4.1) Nigeria (2.3) Egypt (1.3) Sao Tome and
’ 9 ’ gyptl- Principe (3.5)
Asia 32 out of 47 Brunei (4.0) India (1.0) India (1.0) East Timor (2.1)
Europe 4 out of 38 Spain (1.4) Italy (1.2) Italy (1.2) Slovenia (1.0)
North 14 out of 17 Jamaica (4.5) Mexico (2.1) Mexico (2.1) Belize (2.7)
America* ’ ’ ’
P. N i P N i
Oceania 6 out of 8 Samoa (3.8) apuaNew Guinea  Papua New Guinea Vanuatu (1.8)
(3.5 (3.5)
South . . .
. 8 outof 13 Ecuador (3.2) Colombia (2.2) Colombia (2.2) Suriname (2.8)
America

Summary of countries with annual average CSI of 1 or higher (others not included). All values are average CSI values.
*Includes Central America and the Caribbean



